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Q.1: P2: Types of Reproduction Mark(s): 5/5

Hydras can reproduce sexually or asexually. Based on your observations, which statement

best explains what is happening to the hydra in the figure below?

Learning Outcomes Covered

o SCI.3.1.01.034

The hydra is reproducing asexually by splitting in two.

The hydra is reproducing sexually by grafting to another hydra.

The hydra is reproducing sexually by releasing sex cells into the water.




Q.2: P2:Reproduction and Growth of Animals Mark(s): 5/5

Which of the following is NOT an environmental factor that would affect the hamsters’ growth?

Learning Outcomes Covered

o SCI.3.1.01.034

The amount of food the hamster is given

a.
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The amount of time spent on the exercise wheel
C.

Interactions with other hamsters




Q.3: P2:Reproduction and Growth of Animals Mark(s): 5/5

Which type of animals’ communications to attract the female mate is shown

in the image below?

Learning Outcomes Covered

o SCI.3.1.01.034

Physical competition

Pheromones

Mating songs




Q.4: P2:Inheritance Mark(s): 5/5

In the figure below, the trait of the earlobes might be expressed as attached or

unattached. How the trait appeared or expressed is called

Unattached Attached

Learning Outcomes Covered

o SCI.3.1.01.034

Genotype
Genes

b.
Alleles

C.



Q.5: P1: Reproduction and Growth of plants Mark(s): 5/5

Which of the following is TRUE regarding the apple trees shown below?

Learning Outcomes Covered

o SCI.3.1.01.024

r
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a E They produce seeds
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They reproduce asexually

They produce cones

They produce spores



Q.6: P1:Reproduction and Growth of plants Mark(s): 5/5

What does the letter B refer toin the image below?

Learning Outcomes Covered

o SCI.3.1.01.024
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b.
Seed
C.
Spores




Q.7: P1:Impact on Land Mark(s): 5/5

Which of the following is NOT a natural resource?

Learning Outcomes Covered

o SCl.2.3.03.015

A
of
: B
C.
C
d.



Q.8: P1:Impact on Land Mark(s): 5/5

Which of the following letters represents the human impact on land that contains

harmful substances affecting soil, air, and water quality?

Hazardous waste Grazing livestock

A B C D

Learning Outcomes Covered

o SCl.2.1.01.012
o SCI.3.1.01.024

i
A
b.
B
C
d.



Q.9: P1:Impact on Water Mark(s): 5/5

The pie chart below presents the usage of water in 2022.

Which sector consumed the highest amount of water?

Livestock, mining,
Motusary aquaculture
Public supply 4% <4%

(Includes houses)

Learning Outcomes Covered -

7 — —_— —

o SCI.2.1.01.012
o SCI.3.1.01.024

Irrigation of agriculture crops
a.
b. Industry

Public supply
C.




Q.10: P1:Impact on Land Mark(s): 0/5

Which of the following will increase the human negative impact on the environment?

Learning Outcomes Covered

o SCl2.1.01.012
o SCI.3.1.01.024

b. Properly disposing harmful chemicals

Reducing the use of the resources

Taking longer showers



Q.11: P2:Impact on atmosphere Mark(s): 5/5

The image below represents the ozone layer in two different years.

Which of the following reduces the ozone layer in the upper atmosphere?

2016

Learning Outcomes Covered

o SCl.2.1.01.012

Photochemical smog
a.
Volcanic eruption
b.
e s e e ey |
1 1
1 CFCs i
C.! 1
: ;

Acid precipitation




Q.12: P2:Impact on Water Mark(s): 0/5

Which of the following is a nagative impact on the environment as a result of building

the dam shown in the image below?

Learning Outcomes Covered

o SCI.2.1.01.012

r
|
|
E Decreasing the rate of erosion along the banks
|
1

a.

Increasing river flow

‘ Creating a geographic barrier

Creating a continuous flow of the river
d.



Q.13: P2:Impact on climate Mark(s): 5/5

The graph below represents the concentrations of three greenhouse gases over time.
Which of the following represents the correct descending order of the greenhouse gases
concentrations in 2000?

Global Greenhouse Gas Concentrations
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Learning Outcomes Covered - - - - - - - -

o 5Cl.2.1.01.012

CO, mp CH, wp N,O

a.

.| N:Owp CH, = cCO,
CH,=» N,0 =» CO,

C.

CO,mp N,O wpCH,




Q.14: P2:Impact on Land Mark(s): 5/5

The image below shows a forest that was removed.

Which of the following is NOT an impact of deforestation?

Learning Outcomes Covered

o SCI.2.1.01.012

Loss of animal habitat

Extinction of species

Decrease in the rate of photosynthesis



Q.15: P2:Impact on the Atmosphere Mark(s): 5/5

Which of the following statements about acid precipitation is False?

Learning Outcomes Covered

o S(Cl.2.1.01.012

Acid precipitation can harm fish and other organisms

a.

b It forms when nitrogen and sulfur gases react with water and oxygen in the atmosphere
Acid precipitation can pollute soil and harm the trees

C.

Acid precipitation has a higher PH than normal rainfalls



Q.16: P2

:Types of Reproduction Marlk(s): 5/5

A tree produces seeds in pods when wind-borne pollen from another tree of the same

species reaches the flowers. Each seed contains genetic information so the seed can

grow into an adult tree. Which do you predict would be the effect of this process?

Learning Outcomes Covered

o SCI.3.1.01.034

The tree produces genetically identical offspring.

The tree produces offspring that are identical to the female parent.

The tree produces offspring that are identical to the male parent.




